
Ultimate Quilters Cabinet Assembly Instructions 

COMPONENTS DESCRIPTION QTY COMPONENTS DESCRIPTION QTY 

� Cam Bolt 24mm Long 16 

� Cam 015mm 16 0 Insert Holder 1 

� Dowel 08 x 30mm 48 <Z '.:: ;;;;.;;;; I Lifter Rail (Right) 1 

A ► Screw 03.4x15mm CS ZP 98 

D � Screw 03.5x18mm CS ZP 8

@ml Screw 06 x 10mm C/S 24 

H ©):lllID Hinge Screw 06 x 15mm 4 

Lifter Rail (Left) 1 

� 

Lifter 1 

� Gate Leg Button 2 

® Castor Washer 5 0 Ramp 2 

; Castor 050 7 

� 
Castor 050 Lockable 2 

HORN AUSTRALIA

F U R NIT U R E 

� 
. Castor Bracket 4 

� 
Castor Spanner 1 

� Carn Bolt 24mm 8 

e) Cam 015x10mm 8 

��(o,- Screw 04 x 32mm 16 

� Suit Hinge 10 

Drawer Runner 450 4 sets 

� Bow Handle + Screws 5 

C Glue Bottle 3 

� Hinge IViounting Plate 2 

� 

Note: 1-/inge & Mouniing Piata may 
be supplied togerher. Please 

separate before assembly. 2 
Hinge 

" Tube 1 

@)1111\li\iliia Screw 04 x 38mm 4 

(@:� Lock & Key 1 

� Lock Striker 1 

� Escutcheon 
Attached to the lock shaft in packagit g 1 

g Cover Cap 2 

Ultimate Quilters Cabinet Page 1 



(-\cc_ P1L- 3 
Ultimate Quilters Cabinet Assembly Instructions 

Ultimate Quilters Cabinet panels and their descriptions 
Note: Hole position helps with panel orientation 

:o ® 
.

: I I: � 

® 

� . .. 

�¼.). ��-J 

© @ ® 

�"-4 �"'" I.\ ��
"' 

r .. ..l
(8) 

CD 

Pf.'1 
fl(-3 �'\c.."3 

I: @. : I @ ® 10 01 

�k:. '{ ,'\c:-; i-'i(.� 
I= @. = I @ ffi I 0 01 

�v..'-l 

l'k.3 i-'1.:.:, 

L] . 0 

Cam Bolt 24mm (x8) Long 

Tube 

@)00110011-

Screw 04 x 38mm (x4) 

Assembly Steps 
1. Screw Cam Bolts into Top 

as shown. 
2. Fix Tube onlo the Top using 

Screw 04 x 38mm. 

1. Top Pre-Assembly

Q) 

fw.:� 

@} 

�°'1<3 

® 

i..c.'3

� 

'® 

I ®o 

E] 

□ 

.

0 

:I 
�?, 

jt,JS,il'Z.(l..'r 
gor,:i� 

r-

f'(. "' 

D 

D 
Before assembling 

place 2 to 3 drops of 

glue in each dowel hole. 

Do Not place glue 

in Cam or Cam Bolt 

holes. 

1>: 
p 

(M) 

p 

�� 

Ultimate Quilters Cabinet Page 2



Cam Bolt 24mm (xB) Long 

► 

Screw A 03.4 x 15mm (x2) 

Assembly Steps 
1. Screw Cam Bolts into Bottom 

as shown. 
2. Fix Insert Holder to the Bottom 

using Screw A 03.4 x 15mm. 

Dowel (x16) 

EJ 
Cam (x8) 

Hinge (x2) 

Screw H 06 x 15mm (x1) 

Assembly Steps 
1. Insert Dowels using 2 to 3 

drops of Glue into each end. 
2. Place Cams into holes shown. 
3. Fix the Hinges using 

Screw H 06 x 15mm. 

Dowel (x4) 

EJ 

R/H Lifter Rail 

► 
Screw A 03.4 x 15mm (x3) 

Assembly Steps 
1. Insert Dowels using 2 to 3 

drops of Glue into each end. 
2. Place Cams into holes shown. 
3. Screw on R/H Lifter Rail using 

Screw A 03.4 x 15mm. 

Note: 

Rail will be level with the panel 
edge. 

Ultimate Quilters Cabinet Assembly Instructions 
2. Bottom Pre-Assembly

3. R/H and UH End Pre-Assembly

4. R/H Division Pre-Assembly

Note: 

Note: 

Arrow on Cam points 
towards the closest edge 

Arrow on Cam points 
towards the closest edge 

Screw A 
03.4x15mm C/S 

Cam Bolt 

Ultimate Quilters Cabinet Page 3 



� 
Cam (x2) 

� 
Dowel (xB) 

Lock Striker 

► 
Screw A 03.4 x 15mm (x5) 

Assembly Steps 

1. Insert Dowels using 2 to 3 
drops of Glue into each end. 

2. Place Cams into holes shown. 
3. Screw on L/H Lifter Rail using 

Screw A 03.4 x 15mm.
4. Screw on Lock Striker using 

Screw A 03.4 x 15mm. 

Note: 
Rail will be level with the panel 
edge. 

Butt Hinge (x2) 

� 
1Y 

Castor Bracket 

Castor 050 Locking 

Lock 

► 
Screw A 03.4 x 15mm (x10) 

@-i-
Screw D 03.5 x 18mm (x4) 

Assembly Steps 
1. Screw on Butt Hinge using 

Screw A 03.4 x 15mm. 
2. Screw on Castor Bracket using 

Screw A 03.4 x 15mm. 
3. Screw on Castor 050. 
4. Screw on Lock using 

Screw D 03.5 x 18mm. 

Ultimate Quilters Cabinet Assembly Instructions 

5. UH Division Pre-Assembly

aue 
_,........ __ o 

Screw A 
03.4x15mm C/S 

6a. Door Pre-Assembly 

Note: 

Tap Castor Bracket 
into the hole in the edge 
of the Door before 
inserting screws. 

Note: 

Arrow on Cam points 
towards the closest edge 

rew D 
03.5x18mm 

Ultimate Quilters Cabinet Page 4 



Castor Bracket 

Castor 050 Locking 

► 
Screw A 03.4x1 5mm (x 14) 

Hinge Plate (x2) 

Assembly Steps 

1. Screw on Castor Bracket using 
Screw A 03.4 x 15mm. 

2. Screw on Castor 050. 
3. Screw on Hinge Plate using 

Screw A 03.4 x 15mm. 

4. Fix Butt Hinge onto R/H Door 

using Screw A 03.4 x 15mm. 

Butt Hinge (x4) 

Ramp 

► 
Screw A 03.4 x 15mm (x12) 

@=-
Screw D 03.5 x 18mm (x4) 

Assembly Steps 

1. Screw on Butt Hinge using 

Screw A 03.4 x15mm. 
2. Screw on Ramp using 

Screw D 03.5 x18mm. 

Ultimate Quilters Cabinet Assembly Instructions 
6b. Door Pre-Assembly 

7. Back Flap Pre-Assembly

Screw D 
03.5x18mm 

r 
1tRamp 

Note: 

Tap Castor Bracket 
into the hole in the edge 
of the Door before 
inserting screws. 

Ultimate Quilters Cabinet Page 5 



Gate Leg Button 

Butt Hinge 

� 
1,Y 

Castor Bracket 

Castor 050 

► 
Screw A 03.4 x 15mm (x20) 

Assembly Steps 

1. Screw on Butt Hinge using 
Screw A 03.4 x 15mm. 

2. Screw on Castor Bracket using 
Screw A 03.4 x 15mm. 

3. Screw on Castor 050. 

Ultimate Quilters Cabinet Assembly Instructions 

8. Gate Leg Pre-Assembly

Note: 

Tap Castor Bracket into the 
pre-located hole on the edge 
of the Door before fixing the 
Screws. 

Ultimate Quilters Cabinet Page 6



Assembly Steps 
1. Place 2 to 3 drops of Glue into 

the dowel holes in the Bottom. 
2. Position the Cam holes in the 

End and Division over the Cam 
Bolts in the Bottom and insert. 
Secure by turning the Cam a 
half turn clockwise. 

Assembly Steps 
1. Slide Back into groove in 

L/H and R/H Ends and Bottom. 

Note: With the Beige coloured 

face to the inside of the cabinet. 

Ultimate Quilters Cabinet Assembly Instructions 
9. Cabinet Assembly

10. Cabinet Assembly

A. Insert

Cam Bolt

B. Half turn
Clockwise
to Tighten

Ultimate Quilters Cabinet Page 7

*PROCEED TO ELECTRIC LIFTER 
INSTRUCTIONS FOLLOWING STEP 10*



Assembly Steps 

1. Place 2 to 3 drops of Glue 
into each Dowel hole. 

2. Position the Top Panel 
Assembly over the Cabinet 
Assembly locating the Cam 
Bolts and Dowels. 

3. Secure by rotating Cams a 
half turn clockwise.

4. Rotate Cabinet onto its
Back and then Top carefully.

Note: 

It wili require 2 people to lift 
and rotate cc:binet onto ii$ top 

Castor 050mm 

® 
Washer 

Spanner 

Assembly Steps 

1. Place Castor Washers over 
Castor thread and screw
into Bottom and secure
using the Spanner.

Ultimate Quilters Cabinet Assembly Instructions 
11. Top and Cabinet Assembly

12. Castor Attachment

A. Insert

Cam Bolt

Clockwise 
to Tighten 

Ultimate Quilters Cabinet Page 8



► 
Screw A 03.4 x 15mm (x12) 

Assembly Steps 
1. Fix the Back Flap to the 

Cabinet using 
Screw A 03.4x15mm. 

► 
Screw A 03.4 x 15mm (x12) 

Assembly Steps 
1. Fix Gate Leg to the back of 

Cabinet using 
Screw A 03.4x15mm. 

2. Swing Gate Leg against Back. 
3. Roll Cabinet back over onto 

Castors 

Note: 
It will require 2 people to lift 
and rotate Cabinet safely. 

Ultimate Quilters Cabinet Assembly Instructions 
13. Back Flap Assembly

14. Gate Leg Assembly

Ultimate Quilters Cabinet Page 9 



L/H & R/H 
Drawer Runner 450mm 

@:!DJ 
Screw F 06 x 10mm (x24) 

Q 
Cover Cap (x2) 

Assembly Steps 

1. Fit Left Hand and Right 
Hand Runners using 
Screw F 06x1Omm. 

2. Press Cover Cap into the 
holes of Top and Back. 

� 
Cam (x8) 

� 
Dowel (x2O) 

� 
Cam Bolt 24rnrn (:<8) 

Assembly Steps 
1. Place 2 to 3 drops of glue in 

each dowel hcle in the Drawer 
Sides and insert Dowels. 

2. Screw the Cam Bolts into the 
Drawer Front as shewn. 

3. Insert Cams into the Drawer 
Sides ensuring the arrow 
points to the front edge. 

Bow Handle (x3) 

� 
Handle Screw (x6) 

@::::::ummxro,-
Screw 04 x 32mm (x12) 

Assembly Steps 
1. Secure L/H & R/H Drawer 

Sides to Drawer Back using 
Screw 04x32mm. 

2. Slide Drawer Bottom into 
the Drawer Side groove. 

3. Place 2 to 3 drop of glue in the 
dowel holes in Drawer Front. 
Locate the Drawer Front and 
secure by turning the Cam a 
half turn clockwise. 

4. Fix Handle onto Drawer Front 
using screws supplied. 

Ultimate Quilters Cabinet Assembly Instructions 
15. Drawer Runner Assembly

16 Drawer Assembly

17. Drawer Assembly

1. Insert 
Cam Bolt 

� 

2Halfl: � 
Clockwise 
to Tighten 

Ultimate Quilters Cabinet Page 10 



Bow Handle 

0--
Handle Screw (x2) 

@) iiilllllllli>-

Screw 04 x 32mm (x4) 

Assembly Steps 
1. Place 2 to 3 drop of glue in the 

dowel holes. 
2. Attach Drawer Bottom onto 

Drawer back. 
3. Secure L/H & R/H Drawer 

Sides to Drawer Back using 

Screw 04x32mm. 
4. Locate the Drawer Front and 

secure by turning the Cam a 
half turn clockwise. 

5. Fix Handle onto Drawer Front 
using screws supplied. 

6. Locate the Drawer on the 
runners and slide into Cabinet. 

Escutcheon 

Bow Handle 

� 

Handle Screw (x2) 

Assembly Steps 

1. Press Escutcheon into Door. 
2. Fix Handle onto the Door using 

screws supplied. 
3. Locate and slide the Hinge 

Plate onto the Hinge. 

Hinge Adjustment Steps 

Vertical 

1. Partially loosen the Hinge 
Screws on one Door. 

2. Lift the Door until it is 2mm 

from tile Top and re-tighten 

tile Hinge Screws. 
3. When Doors are adjusted fit 

Screw A 03.4x15mm 
to secure Hinges. 

Ultimate Quilters Cabinet Assembly Instructions 
18. Drawer Assembly

19. Door Assembly

Escutcheon 

0 

Vertical Adjustment 

Ultimate Quilters Cabinet Page 11 


	Ultimate Quilters Table_Page_01
	Ultimate Quilters Table_Page_02
	Ultimate Quilters Table_Page_03
	Ultimate Quilters Table_Page_04
	Ultimate Quilters Table_Page_05
	Ultimate Quilters Table_Page_06
	Ultimate Quilters Table_Page_07
	Ultimate Quilters Table_Page_08
	Ultimate Quilters Table_Page_09
	Ultimate Quilters Table_Page_10
	Ultimate Quilters Table_Page_11
	Ultimate Quilters Table_Page_12
	Ultimate Quilters Table_Page_13



